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Internal Assesment Test - 11

Sub:  Engineering Maths-III Code: 17MAT3.1
Date: 15/10/2018 Duration: 90 mins  Max Marks: 50 Sem: 3 Branch: ISE-A & B,Teg
: Ec-g, C

First question is compulsory. Answer any six questions from rest ’
OBL
Marks oy
GOy | ke
I Solve the difference equation u, , —2u,,, +u, =2" .Giventhat u, =2, 4, =1. [8] €02 3
Find the Z-transform of cosh| "~ +6 '
2. ind the Z-transtorm ot cos 7+ [7] CO2. L3
- 227 43z+12
8. If “(z) = # Jfind the values of u, ,u,, u,,u,. [7] cozl L3
z p—
Find the Z-transform of »° and hence find Z-transform of e*” #’ by damping [7] ¢0©2 L3
rule.
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First question is compulsory. Answer any six questions from rest. ’
OB
Marks CO O ORBT
I Solve the difference equation u,,, —2u,, +u, =2" .Giventhat u, =2, u, =1.  [8] L0213
; nw
7. Find the Z-transform of cos h(~2—+9] [7] | €O2| L3
o 2o 37412 [7] | CO2| L3
3. If u(z)= <2 T2 2 find the values of Wity Wi Ty

(z-1)°

4. Find the Z-transform of »° and hence find Z-transform of " n’ by damping [7] €02

L

rule. SRS T



_ _ I for|x|<a
5. Find the complex Fourier transform of flx)= .Hence evaluate
0 forlx>a
Tsinxdx. [7] o | B3
0 X
6. Find the infinite Fourier cosine transform of ™. 7l oo =
W o
f Find the complex Fourier transform of ™ *~, a>0. [7]
. 10,0 <1 [7] ¢on | L3
8.  Solve the integral equation If(x)sinaxdx =20,I<a<2
v 0 ,aa>2
9. Find the real root of the equation x° —3x+4 =0 by Regula-Falsi method. [7] €9% | L3
T

|
10. Evaluate [ x
S

log,2 .

using Weddle’s rule by taking seven ordinates and hence find [7]

] ) 1 for [x] <a
5. Find the complex Fourier transform of f (x)= .Hence evaluate [71 CO2 L3
0 for[x‘ >a
Tsinx e
2 X
B Find the infinite Fourier cosine transform of e ™. [7] COZ L3
(71 €o2 1
% Find the complex Fourier transform of ¢ ", a>0.
5 10,0<a <1 [@) =& |13
g Solve the integral equation J.f(x)sinaxdx =20,1<a<2
0 0 ,a>2
9. Find the real root of the equation x’ —3x+4 =0 by Regula-Falsi method. [Z]] %08 L3
I % e COo 1.3
10. Evaluate J.] > using Weddle’s rule by taking seven ordinates and hence find [7]
“1+x
log,2 .
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